





" Question No. &
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Perform the indicated operations and Simplify. — eb  Chaanei
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Question No. §

ITA={1,2.3} anay D={0, 1,22} then

vA=8
A and B are disjoints sets
"BEA

AC B
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‘ Question No. 21

~ Which one of the following equations is an identity?

®)
3(5x —3) = 15x+ 19
@ —-2(x4+6)+3x=x—12
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;X—; = 11







Question No. 2

ifa. bandc are real numbers with a = b, then

N

a+c=-(Db+C)
J*(‘.-—D*C
aA+CcC<D+cC

a+c>b+cC




Questhon No 25

the equation 2x” 4 I 3x

150 has
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Question No. 12
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Question No. 14

x+1

The domain of 1S
(x+3)(2x—3)

R\{-3, 3}

R\ 3, )
R\ {3, 3]
R\ {-3]}




Total questions in exam: 25 | Answered: 0

Question No. 21

Using set notation, write the elements belonging to the set

s I * |
{Z | = n",n is a natural number less than or equal to 4}.




Question No. 17

i
| . : 3z+2 -
- The domain of the function - T 18

¢ R\{_%74}
“ R\ {}-4)
’ R\ {1,4)

* R\ {-}1,-4)
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Suppose r € R;r # (. Factor out the least power of r from 6r*/* — 5r

r—2/3(6 — 57)
r 24 {OT 6H)
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J question No. 10
Solving the equation 2AP-3rt=5Prt for P gIVES




" Question No. 9

-

- 2
The quotient — can be written-as
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Total questions in exam: 25 | Answered: 0

Question No. 2

Solve A = P(1 + nr) forr

A—-P
r —

Pn

Pn
y —

A—P

A
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n

P—A

Pn




Question No. 2

———————————
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Simlplifyingthepovw0.f "% gives

v -3
3+
1235
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Total questions in exam: 25 | Answered: 0

Question No. 3

let 2 #0,y #0 and z #—y. Then (z7'+y Nz +y)!is equal to

r+y

Ty




QuestionNo 13 U 7o P B
s tions is not a linear equation"

" Which one of the followmg equa

T x—1=0
) +0.5(2x+4) =

3X3—§-x+1:0

0.02x—-0.002x = 0.50




Question No. 1

The exponent of (2xy)? is

2Xy
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Question No. 25

'f

S0INg the equation 2(3x-4a)+4b=5x+4(D-a) Tor x gives =
-—
-
—
b-a -
x O ——
ib+5Sa
X -423
X = 423
‘A
x T
4b
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Question No. 8
Factor the polynomial r* + 5r° — 36 completely

(r* - 4)(* + 9)
(r 4+ 2)(x* 4+ 9)

(r = 2)(x 4+ 2)(x* +9)

\F=20r+ 2z 4+ 3)r -3




Total questions in exam 28 | Answered 1

Question No. 2

’

Factor: 6x°












 Total questions in exam 25 | Answered: 9

Question No. 9

Suppose that n € N and n < 4. The degree of the polvnomial

rw )

2 ‘ .. .9 -
'y —2Zxy+ J'Jy).(]/"r‘ — 3x"y + 5vy”) i1s
"'nNn+13
v 13

“N+4)Nn +
12




Question NO

Perform this division (om 13m-1S)-—(m*

6m - S

om -

m-— S

bm+ S
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Dividing t) “
‘ »w - 1 2
w : \‘.\ oIl W N l!.\ Y, ¥ ives

. ’.‘ -‘_V )
v 4 Jy + 4
v Jy + 4
y" 2y :




Question No. 14

The simiplified expression of (—9)*/¥ is paositive if the values of z and y are equal to

=gy =2
pe=ms y=2
z2=9 9=3
z2=8 y=2




queshons In exam 25 | Answered 0

Totat

Question No. 1 |

‘ S o 5 h > ‘ :
Ihe expression 82" + 32 + 4z can be classified as a

I -




Question No. 10

Dividing —33x®-9x%+30x* -21% by —3x" gives

ll.r6 03.\'" ll.\"Z -7

o6 -~ 4 2 - |
llx" +3x 11x“ 4+ /x










Question No_ 4

S Thhe eguation that Bustrates tThe dstnibutive property

w 4=x1~4
4 =6+« N A =t « 4 =7
4+6 6+ 4
d+2(6 7)o (4 o6)7
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4 Sewect the corredt property that describes the gven e L

X (y+3)=x+(3+y)

9 Assoczatve property of muBIDECaton
© Commutative property of a0ation
< 1centty property of addon

“ Inverse property of acdion










question NO. 19
{ describes thé given equation

e correct property tha

Select In
15x 7+ 10X 9

15 x (7 +9)

Nistributive property
identity property of addion

~ommutative property of addimion

rse property of adamion

inye







Question No. 21

Sedect the correct propeity ihat describes the given equaton

18-1?)-3-8-(1?-3)

Associative property of multiphcation
jgentity property of addition
inverse property of agdion

Commutative property of addibon
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Total questions in exam: 25 | Answered: 8

Question No. 5

S @ universal set then the compiement of U Is equal to




Total questions in exam

U= (9. 10)

U={0.1.2,3,4,5,6,7,8,9, 10)
U={)

U={0.1.2.3.4.5 6.7 8)
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Question No. 10

Using set notation, the elements belonging to the sel
{x|] x Is a natural number less than 2} are

9]

1)
0}












Question No. "

The intersection {4, 0, g 10.12,14} [ {4, 5,0, 10} gaves

(4.6, 10}
(4.6, 8,10,12, 14}

)
(4.6, 8,10




{ otal questions 1 Cxam 28 | Answered 0

Question No. 12

Determine the following intersection anf{6,7)

()
((),7]
=)

L /)

!h’




Question No. 24

[14]C A




Let U -3 -2
{-3,-2,-1,0,1,2,3 4.5.¢
Find (AN BY 3,4,5,6}. A {-2.0.2 4 6}, and B {(
£ Ml Z2& 08 q;}

. W,

U

{(-3.-2.-1. 1,4, 6)
(<3.-2,~1, 1, 3 5)
(9,21, 1,3, 5, 6)




